Applications of Feket-Szegö Inequalities for Generalized Sakaguchi Type Functions to Fractional Derivative Operator

¹Trilok Mathur, ²Ruchi Mathur and ³Deepa Sinha

 $^1{\rm Birla}$ Institute of Technology and Science, Pilani, India $^2{\rm Jaipur}$ Engineering College and Research Centre, Jaipur, India $^3{\rm South}$ Asian University New Delhi, India

e-mail: 1 tmathur@pilani.bits-pilani.ac.in, 2 ruchs_21@yahoo.co.in, 3 deepasinha2001@gmail.com

Abstract In the present paper, we have given the applications of Feket-Szegö inequalities for generalized Sakaguchi type functions obtained recently by us. We have investigated Feket-Szegö inequalities of certain classes of functions defined through fractional derivatives. The applications of Feket-Szegö inequalities for subclass of functions defined by convolution with a normalized analytic functions are also given.

Keywords Sakaguchi functions; Subordination; Fekete-Szegö inequality; Convolution **2010 Mathematics Subject Classification** 30C45, 30C50, 30C80

1 Introduction

Let A be the class of analytic functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (z \in \Delta : z \in C : |z| < 1)$$
 (1)

and S be the subclass of A consisting of univalent functions. For two functions $f,g \in A$, we say that the function f(z) is subordinate to g(z) in Δ and write $f \prec g$, or $f(z) \prec g(z)(z \in \Delta)$ if there exists an analytic function w(z) with w(0) = 0 and $|w(z)| < 1(z \in \Delta)$ such that $f(z) = g(w(z)), (z \in \Delta)$. In particular, if the function g is univalent in Δ , the above subordination is equivalent to f(0) = g(0) and $f(\Delta) \subset g(\Delta)$. Recently, Frasin [1] introduced and studied a generalized Sakaguchi type class as $S(\alpha, s, t)$ and $T(\alpha, s, t)$. A function $f(z) \in A$ is said to be in the class $S(\alpha, s, t)$ if it satisfies

$$Re\left\{\frac{(s-t)zf'(z)}{f(sz) - f(tz)}\right\} > \alpha \tag{2}$$

for some $0 \le \alpha < 1, s, t \in C$ with $s \ne t, |t| \le 1$ and for all $z \in \Delta$. We also denote by the subclass $T(\alpha, s, t)$ the subclass of A consisting of all functions f(z) such that $zf'(z) \in S(\alpha, s, t)$.

In this paper we define the following class $S^g(\phi, s, t)$ and $T^g(\phi, s, t)$ which are generalizations of the classes $S(\alpha, s, t)$ and $T(\alpha, s, t)$. For two analytic functions

$$f(z) = z + \sum_{n=0}^{\infty} a_n z^n$$
 and $g(z) = z + \sum_{n=0}^{\infty} g_n z^n$,

their convolution or Hadamard product is defined to be the function

$$(f * g)(z) = z + \sum_{n=0}^{\infty} a_n g_n z^n.$$

For a fixed $g(z) \in A$, let $S^g(\phi, s, t)$ be the class of functions $f(z) \in A$ for which $(f * g)(z) \in S^*(\phi, s, t)$. We also denote by the subclass $T^g(\phi, s, t)$ the subclass of A consisting of all functions $g(z) \in A$ such that $z(f * g)'(z) \in S^g(\phi, s, t)$ for $f(z) \in A$.

Definition 1 Let $\phi(z) = 1 + B_1 z + B_2 z^2 +$ be univalent starlike function with respect to '1' which maps the unit disk Δ onto a region in the right half plane which is symmetric with respect to the real axis, and let $B_1 > 0$. The function $g \in A$ is in the class $S^g(\phi, s, t)$ for $f \in A$ if

$$\left\{ \frac{(s-t)z(f*g)'(z)}{(f*g)(sz) - (f*g)(tz)} \right\} \prec \phi(z), \qquad s, t \in C, s \neq t, |t| \le 1.$$
 (3)

Again $T^g(\phi, s, t)$ denotes the subclass of A consisting functions $g(z) \in A$ such that $z((f * g)'(z)) \in S^g(\phi, s, t)$ for $f(z) \in A$.

Obviously $S^g(\phi, 1, t) \equiv S^g(\phi, t)$, which are the classes introduced and studied by Goyal and Goswami [2]. When

$$\phi(z) = \frac{(1+Az)}{(1+Bz)}, (-1 \le B < A \le 1)$$

in (3), we denote the subclasses $S^g(\phi, s, t)$ and $T^g(\phi, s, t)$ by $S^g[A, B, s, t]$ and $T^g[A, B, s, t]$, respectively.

In the present paper, we obtain applications of Fekete-Szeg \ddot{o} inequality for the functions in the subclass $S^g(\alpha, s, t)$. To prove our main results, we need the following lemmas:

Lemma 1 [3] If $p(z) = 1 + c_1 z + c_2 z^2 + ...$ is a function with positive real part in Δ , then for any complex number μ

$$|c_2 - \mu c_1^2| \le 2\max\{1, |2\mu - 1|\}$$

and the result is sharp for the functions given by

$$p(z) = \frac{1+z}{1-z}, \quad p(z) = \frac{1+z^2}{1-z^2}.$$

Lemma 2 [4] If $p(z) = 1 + c_1 z + c_2 z^2 + ...$ is an analytic function with positive real part in Δ , then for a real number ν

$$|c_2 - \nu c_1^2| \le \begin{cases} -4\nu + 2, & \nu \le 0, \\ 2, & 0 \le \nu \le 1, \\ 4\nu - 2, & \nu \ge 1. \end{cases}$$

When $\nu < 0$ or $\nu > 1$, the equality holds if and only if p(z) is (1+z)/(1-z) or one of its rotations. If $0 < \nu < 1$, then the equality holds if and only if p(z) is $(1+z^2)/(1-z^2)$ or one of its rotations. If $\nu = 0$, the equality holds if and only if

$$p(z) = \left(\frac{1}{2} + \frac{1}{2}\lambda\right) \frac{1+z}{1-z} + \left(\frac{1}{2} - \frac{1}{2}\lambda\right) \frac{1-z}{1+z}, \quad (0 \le \lambda \le 1),$$

or one of its rotations. If $\nu = 1$, the equality holds if and only if p(z) is the reciprocal of one of its functions such that the equality holds in the case of $\nu = 0$. Also the above upper bound is sharp, and it can be improved as follows when $0 < \nu < 1$:

$$|c_2 - \nu c_1^2| + \nu |c_1|^2 \le 2$$
 $(0 < \nu \le 1/2)$

and

$$|c_2 - \nu c_1^2| + (1 - \nu)|c_1|^2 \le 2$$
 $(1/2 < \nu < 1)$

Lemma 3 [5] If the function f(z) given by (1) belongs to $S(\phi, s, t)$, then

$$|a_3 - \mu a_2^2| \le \frac{1}{|3 - s^2 - st - t^2|} \max \left\{ B_1, \left| B_2 + B_1^2 \frac{(s+t)}{(2-s-t)} - \mu B_1^2 \frac{(3-s^2 - st - t^2)}{(2-s-t)} \right| \right\}$$

provided $s + t \neq 2, s \neq t, |t| \leq 1$. The result is sharp.

Corollary 1 [5] If the function f(z) given by (1) belongs to $S(\phi, s, t)$, for real parameters s and t such that $s + t \neq 2$ and $s \neq t, |t| \leq 1$, then

$$|a_3 - \mu a_2^2| \le \frac{1}{|3 - s^2 - st - t^2|} \begin{cases} \left| B_2 + B_1^2 \left(\frac{s + t}{2 - s - t} \right) - \mu B_1^2 \left(\frac{3 - s^2 - st - t^2}{(2 - s - t)^2} \right) \right|, & \mu \le \sigma_1, \\ B_1, & \sigma_1 \le \mu \le \sigma_2, \\ \left| \mu B_1^2 \left(\frac{3 - s^2 - st - t^2}{(2 - s - t)^2} \right) - B_1^2 \left(\frac{s + t}{2 - s - t} \right) - B_2 \right|, & \mu \ge \sigma_2, \end{cases}$$

where

$$\sigma_1 = \frac{(2-s-t)^2}{B_1(3-s^2-st-t^2)} \left[-1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right],$$

$$\sigma_2 = \frac{(2-s-t)^2}{B_1(3-s^2-st-t^2)} \left[1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right].$$

The result is sharp.

Definition 2 Let f(z) be analytic in a simply connected region of the z-plane containing the origin. The fractional derivative of f(z) of order λ is defined by

$${}_{0}D_{z}^{\lambda}f(z) = \frac{1}{\Gamma(1-\lambda)}\frac{d}{dz}\int_{0}^{z}(z-\xi)^{-\lambda}f(\xi)d\xi \qquad (0 \le \lambda < 1), \tag{4}$$

where the multiplicity of $(z-\xi)^{-\lambda}$ is removed by requiring that $\log(z-\xi)$ is real for $(z-\xi)>0$

Using definition 2, Owa and Srivastava(see[6], [7]; see also [8], [9]) introduced a fractional derivative operator $\Omega^{\lambda}: A \to A$ defined by

$$(\Omega^{\lambda}f)(z) = \Gamma(2-\lambda)z^{\lambda} \ _{0}D_{z}^{\lambda}f(z), \quad (\lambda \neq 2,3,4...).$$

The class $S^{\lambda}(\phi, s, t)$ consists of the functions $f(z) \in A$ for which $\Omega^{\lambda} f(z) \in S(\phi, s, t)$. The class $S^{\lambda}(\phi, s, t)$ is a special case of the class $S^{g}(\phi, s, t)$ when

$$g(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} z^n \quad (z \in \Delta).$$

Now applying lemma 3 for the function $(f*g)(z) = z + g_2a_2z^2 + g_3a_3z^3 + ...$, we get following theorem after an obvious change of the parameter μ .

2 Main Results

Theorem 1 Let $g(z) = z + \sum_{n=2}^{\infty} g_n z^n$ $(g_n > 0)$. If f(z) is given by (1) belongs to $S^g(\phi, s, t)$, then

$$|a_3 - \mu a_2^2| \le \frac{1}{g_3|3 - s^2 - t^2 - st|} \max \left\{ B_1, \left| \frac{B_1^2(s+t)}{2 - s - t} + B_2 - \frac{\mu g_3 B_1^2(3 - s^2 - t^2 - st)}{g_2^2(2 - s - t)^2} \right| \right\}$$

for real parameters s and t such that $s+t \neq 2$ and $s \neq t, |t| \leq 1$

Proof Let $f * g = L \in S(\phi, s, t)$. Then there exists a *Schwarz* function $w(z) \in A$ such that

$$\left\{\frac{(s-t)zL'(z)}{L(sz)-L(tz)}\right\} = \phi(w(z)), \quad (z \in \Delta, s \neq t).$$
 (5)

If $p_1(z)$ is analytic and has positive real part in Δ and $p_1(0) = 1$, then

$$p_1(z) = \frac{1 + w(z)}{1 - w(z)} = 1 + c_1 z + c_2 z^2 + \dots \quad (z \in \Delta).$$
 (6)

From (6) we obtain

$$w(z) = \frac{c_1}{2}z + \frac{1}{2}\left(c_2 - \frac{c_1^2}{2}\right)z^2 + \cdots$$
 (7)

Let

$$p(z) = \frac{(s-t)zL'(z)}{L(sz) - L(tz)} = 1 + b_1 z + b_2 z^2 + \dots \quad (z \in \Delta)$$
 (8)

$$\frac{(s-t)z\left[1+2g_2a_2z+3g_3a_3z^2+\ldots\right]}{(s-t)z+g_2a_2(s^2-t^2)z^2+g_3a_3(s^3-t^3)z^3}=1+b_1z+b_2z^2+\cdots.$$

which gives

$$b_1 = (2 - s - t)g_2a_2$$
 and $b_2 = (s + t)(s + t - 2)g_2^2a_2^2 + (3 - s^2 - st - t^2)g_3a_3$. (9)

Since $\phi(z)$ is univalent and $p \prec \phi$, therefore using (7), we obtain:

$$p(z) = \phi(w(z)) = 1 + \frac{B_1 c_1}{2} + \left\{ \frac{1}{2} \left(c_2 - \frac{c_1^2}{2} \right) B_1 + \frac{1}{4} c_1^2 B_2 \right\} z^2 + \dots \quad (z \in \Delta).$$
 (10)

Now from (8),(9) and (10), we have

$$(2-s-t)g_2a_2 = \frac{B_1c_1}{2}, \quad \frac{1}{2}\left(c_2 - \frac{c_1^2}{2}\right)B_1 + \frac{1}{4}c_1^2B_2 = (s+t)(s+t+2)g_2^2a_2^2 + (3-s^2-st-t^2)g_3a_3.$$

Therefore we have

$$a_3 - \mu a_2^2 = \frac{B_1}{2g_3(3 - s^2 - st - t^2)} \left\{ c_2 - \nu c_1^2 \right\}, \quad (s + t \neq 2, s \neq t), \tag{11}$$

where

$$\nu = \frac{1}{2} \left\{ 1 - \frac{B_2}{B_1} - \left(\frac{s+t}{2-s-t} \right) B_1 + \left(\frac{\mu g_3 B_1 (3-s^2-st-t^2)}{g_2^2 (2-s-t^2)} \right) \right\}, \quad (s+t \neq 2, s \neq t).$$

Our result now follows by an application of Lemma 1. \Box

The result is sharp for the function defined by

$$\left\{ \frac{(s-t)zL'(z)}{L(sz) - L(tz)} \right\} = \phi(z), \quad s \neq t, \tag{12}$$

and

$$\left\{ \frac{(s-t)zL'(z)}{L(sz) - L(tz)} \right\} = \phi(z^2), \quad s \neq t.$$
(13)

If we take parameters s and t to be real numbers then by using Lemma 2 we obtain following result:

Corollary 2 If the function f(z) given by (1) belongs to $S^g(\phi, s, t)$, for real parameters s and t such that $s + t \neq 2$ and $s \neq t, |t| \leq 1$, then

$$|a_3 - \mu a_2^2|$$

$$\leq \frac{1}{g_3|3-s^2-st-t^2|} \begin{cases} \left| B_2 + B_1^2 \left(\frac{s+t}{2-s-t} \right) - \mu B_1^2 \left(\frac{g_3(3-s^2-st-t^2)}{g_2^2(2-s-t)^2} \right) \right|, & \mu \leq \eta_1, \\ B_1, & \eta_1 \leq \mu \leq \eta_2, \\ \left| \mu B_1^2 \left(\frac{g_3(3-s^2-st-t^2)}{g_2^2(2-s-t)^2} \right) - B_1^2 \left(\frac{s+t}{2-s-t} \right) - B_2 \right|, & \mu \geq \eta_2, \end{cases}$$

where

$$\eta_1 = \frac{g_2^2(2-s-t)^2}{g_3B_1(3-s^2-st-t^2)} \left[-1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right],$$

$$\eta_2 = \frac{g_2^2(2-s-t)^2}{g_3B_1(3-s^2-st-t^2)} \left[1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right].$$

The result is sharp.

Example 1 Let $-1 \le B < A \le 1$. If f(z) given by (1) belongs to $S^g[A, B, s, t]$, for real parameters s and t such that $s + t \ne 2$ and $s \ne t, |t| \le 1$, then

$$|a_3 - \mu a_2^2|$$

$$\leq \frac{(A-B)}{2g_3|3-s^2-st-t^2|} \begin{cases} \left| -B + \frac{(A-B)(s+t)}{(2-s-t)} - \frac{\mu(A-B)g_3(3-s^2-st-t^2)}{g_2^2(2-s-t)^2} \right|, & \mu \leq \sigma_1, \\ 1, & \sigma_1 \leq \mu \leq \sigma_2, \\ \left| B - \frac{(A-B)(s+t)}{(2-s-t)} + \frac{\mu(A-B)g_3(3-s^2-st-t^2)}{g_2^2(2-s-t)^2} \right|, & \mu \geq \sigma_2, \end{cases}$$

where

$$\sigma_1 = \frac{g_2^2 (2 - s - t)^2}{g_3 (3 - s^2 - st - t^2)} \left[\left(\frac{s + t}{2 - s - t} \right) - \left(\frac{B + 1}{A - B} \right) \right],$$

$$\sigma_2 = \frac{g_2^2 (2 - s - t)^2}{g_3 (3 - s^2 - st - t^2)} \left[\left(\frac{s + t}{2 - s - t} \right) - \left(\frac{B - 1}{A - B} \right) \right].$$

If $\sigma_1 \leq \mu \leq \sigma_2$, in view of Lemma 2, Corollary 2 can be improved.

Theorem 2 If the function f(z) given by (1) belongs to $T^g(\phi, s, t)$, then

$$|a_3 - \mu a_2^2| \le \frac{1}{3g_3|3 - s^2 - st - t^2|} \max \left\{ B_1, \left| B_2 + \frac{B_1^2(s+t)}{(2-s-t)} - \frac{3\mu g_3 B_1^2(3 - s^2 - st - t^2)}{4g_2^2(2-s-t)^2} \right| \right\}$$

provided $s + t \neq 2$ and $s \neq t, |t| \leq 1$. The result is sharp.

If we take parameter s and t to be real numbers, then we have following result.

Corollary 3 If the function f(z) given by (1) belongs to $T^g(\phi, s, t)$, for real parameters s and t such that $s + t \neq 2$ and $s \neq t, |t| \leq 1$, then

$$|a_3 - \mu a_2^2|$$

$$\leq \frac{1}{3g_3|3-s^2-st-t^2|} \left\{ \begin{array}{l} \left|B_2 + \frac{B_1^2(s+t)}{(2-s-t)} - \frac{3\mu B_1^2g_3(3-s^2-st-t^2)}{4g_2^2(2-s-t)^2}\right|, \quad \mu \leq \sigma_1^*, \\ B_1, \qquad \sigma_1^* \leq \mu \leq \sigma_2^* \\ \left|-B_2 - \frac{B_1^2(s+t)}{(2-s-t)} + \frac{3\mu g_3B_1^2(3-s^2-st-t^2)}{4g_2^2(2-s-t)^2}\right|, \quad \mu \geq \sigma_2^*, \end{array} \right.$$

where

$$\sigma_1^* = \frac{4g_2^2(2-s-t)^2}{3g_3B_1(3-s^2-st-t^2)} \left[-1 + B_1 \left(\frac{s+t}{2-s-t} \right) - \left(\frac{B_2}{B_1} \right) \right],$$

$$\sigma_2^* = \frac{4g_2^2(2-s-t)^2}{3g_3B_1(3-s^2-st-t^2)} \left[1 + B_1 \left(\frac{s+t}{2-s-t} \right) - \left(\frac{B_2}{B_1} \right) \right].$$

The result is sharp.

Example 2 Let $-1 \le B < A \le 1$. If f(z) given by (1) belongs to $T^g[A, B, s, t]$, for real parameters s and tsuch that $s + t \ne 2, s \ne t, |t| \le 1$, then

$$|a_3 - \mu a_2^2|$$

$$\leq \frac{A-B}{3g_3|3-s^2-st-t^2|} \begin{cases} \left| -B + \frac{(A-B)(s+t)}{(2-s-t)} - \frac{3\mu g_3(A-B)(3-s^2-st-t^2)}{4g_2^2(2-s-t)^2} \right|, & \mu \leq \sigma_1^{**}, \\ 1, & \sigma_1^{**} \leq \mu \leq \sigma_2^{**} \\ \left| B - \frac{(A-B)(s+t)}{(2-s-t)} + \frac{3\mu g_3(A-B)(3-s^2-st-t^2)}{4g_2^2(2-s-t)^2}, & \mu \geq \sigma_2^{**} \right|, \end{cases}$$

where

$$\begin{split} \sigma_1^{**} &= \frac{4g_2^2(2-s-t)^2}{3g_3(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B+1}{A-B} \right) \right], \\ \sigma_2^{**} &= \frac{4g_2^2(2-s-t)^2}{3g_3(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B-1}{A-B} \right) \right]. \end{split}$$

Since

$$\Omega^{\lambda} f(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(2-\lambda)}{\Gamma(n+1-\lambda)} z^n,$$

we have

$$g_2 := \frac{\Gamma(3)\Gamma(2-\lambda)}{\Gamma(3-\lambda)} = \frac{2}{2-\lambda},\tag{14}$$

and

$$g_3 := \frac{\Gamma(4)\Gamma(2-\lambda)}{\Gamma(4-\lambda)} = \frac{6}{(2-\lambda)(3-\lambda)}.$$
 (15)

For g_2 , g_3 given by (14) and (15) respectively, Theorem 1 reduces to the following.

Theorem 3 Let $\lambda < 2$. If f(z) given by (1) belongs to $S^{\lambda}(\phi, s, t)$ for $s+t \neq 2, s \neq t, |t| \leq 1$, then

$$|a_3 - \mu a_2^2|$$

$$\leq \frac{(2-\lambda)(3-\lambda)}{6|3-s^2-t^2-st|} \max \left\{ B_1, \left| \frac{B_1^2(s+t)}{2-s-t} + B_2 - \frac{3}{2} \frac{\mu(2-\lambda)B_1^2(3-s^2-t^2-st)}{(3-\lambda)(2-s-t)^2} \right| \right\}$$

Corollary 4 If the function f(z) given by (1) belongs to $S^{\lambda}(\phi, s, t)$, for real parameters s and t such that $s + t \neq 2$ and $s \neq t, |t| \leq 1$, then $|a_2 - ua_2^2|$

$$\leq \frac{(2-\lambda)(3-\lambda)}{6|3-s^2-st-t^2|} \begin{cases}
\left| B_2 + B_1^2 \left(\frac{s+t}{2-s-t} \right) - \frac{3}{2}\mu B_1^2 \left(\frac{(3-\lambda)(3-s^2-st-t^2)}{(2-\lambda)(2-s-t)^2} \right) \right|, & \mu \leq \eta_1^*, \\
B_1, & \eta_1^* \leq \mu \leq \eta_2^*, \\
\left| \frac{3}{2}\mu B_1^2 \left(\frac{(3-\lambda)(3-s^2-st-t^2)}{(2-\lambda)(2-s-t)^2} \right) - B_1^2 \left(\frac{s+t}{2-s-t} \right) - B_2 \right|, & \mu \geq \eta_2^*
\end{cases}$$

where

$$\eta_1^* = \frac{2}{3} \frac{(3-\lambda)(2-s-t)^2}{(2-\lambda)B_1(3-s^2-st-t^2)} \left[-1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right]$$
$$\eta_2^* = \frac{2}{3} \frac{(3-\lambda)(2-s-t)^2}{(2-\lambda)B_1(3-s^2-st-t^2)} \left[1 + \frac{B_2}{B_1} + B_1 \left(\frac{s+t}{2-s-t} \right) \right]$$

The result is sharp.

Remark 1 For s = 1 in aforementioned Theorems 1, 2, 3, Corollaries 2, 3, 4 and Examples 1, 2, we arrive at the results obtained by Goyal and Goswami [2] and for s = 1, t = -1 in aforementioned Theorems 1, 2, 3, Corollaries 2, 3, 4 and Examples 1, 2, we arrive at the results obtained by Shanmugam *et al.* [4].

3 Conclusion

We have established Feket-Szegö inequalities for generalized Sakaguchi type functions defined through fractional derivatives. The applications of the above inequalities for subclass of functions defined by convolution with a normalized analytic functions are also derived.

4 Acknowledgement

The authors are thankful to Prof. S. P. Goyal, Emeritus Scientist(CSIR), University of Rajasthan, Jaipur, India, for his kind help and valuable suggestion during the preparation of this paper.

References

- [1] Frasin, B. A. Coefficient Inequalities for Certain Classes of Sakaguchi Type Functions. *Int. J. Nonlinear Sci.* 2010. 10(2): 206–211.
- [2] Goyal, S. P. and Goswami, P. Certain Coefficient Inequalities for Sakaguchi Type Functions and Applications to Fractional Derivative Operator. *Acta Univ. App.* 2009. 19: 159–166.
- [3] Ma, W. and Minda, D. A Unified Treatment of Some Special Classes of Univalent. Functions. In Li, Z., Ren, F., Yang, L. and Zhang, S.(Eds.) Proceedings of Conference of Complex Analysis. International Press. 1994. 157–169.
- [4] Shanmugham, T. N., Ramachandran, C. and Ravichandran, V. Fekete-Szegö Problem for a Subclasses of Starlike Functions With Respect to Symmetric Points. *Bull. Korean Math. Soc.* 2006. 43(3): 589–598.
- [5] Mathur, T. and Mathur, R. Feket-Szegö Inequalities for Generalized Sakaguchi Type Functions. In *Proc. World Congress of Engg.* 2012. 210–213
- [6] Owa, S. On Distortion Theorems I. Kyunpook Math. 1978. 18(1): 53–59.
- [7] Owa, S. and Srivastava, H. M. Univalent and Starlike Generalized Hypergeometric Functions. *Canad. J. Math.* 1987. 39(5): 1057–1077.
- [8] Srivastava, H. M. and Owa, S. An Application of Fractional Derivative. *Math. Japon.* 1984. 29(3): 383–389.
- [9] Srivastava, H. M. and Owa, S. Univalent Functions, Fractional Calculus and their Applications. New York: John Wiley and Sons. 1989.